ot

5

1.



2. 649 AAlET= Tkl




@ 3 ® 4 @ 5 ® 6

O 2



4. (¥2)" x V64 9] gt FLolA?

@D 1 @ 2 ® VY128 @ 4 ® 512



olJ
S
o}J
olig
Nfo

ojn

-2

® +-16
@ V/\243=3

10

® (¥1000)?



6. ﬁ%x V48 x V8 9] g7



]
@ (2V)V2 =4 © (5¥2)x (5Y2) = 25"
©® 9% =3V
D ® @ 6,0 ® 9,0
@ 0,0 ® 9,0,6




=

% 87 e ALY

oo
ﬁ

@ -3 279 AlAlELolt

@ 819 UAlFT2 3,-3,3i, -3io|t}.

® -V81=-3
@ v-16=-2

©® V-64=-4



9]

o HS P 27T AAED T 5 A

17

o

2~
T

z4

a1
H

16 9] A

9.

O
=

L,

[
H

S}
=

ozt

@ -12 ® 4 @ 12 ® 36

@ -36



10. 7AEAlEel Het 4% T &2 A2?

D V81 ==+3

@ V-64 = -8

® 16 9] HAlHEZS 20/t

@ \/(-3)2 9] AlFL-2 30l

©® -12 -19 AAIFZ F sholth.






@ -4 ® 4 @ 8 ® 16

O -16



16

© 2

64
81









® 55



17. V2V4V8E 2k B2 Jepd of k=2

11 11
D 5 @ 5 ©)

ool w

23
24

®1



18

-
.

rlo

\/_7
\/__1

@

1-

_ V2

( 2

@ —(1+ V2
2
)i

@

. -1
2
)i

@ 1+
(

1+ V2
2
)i



=

19. Zas = (1+i)x+1-2ic] tote] 2 o] 5o ded o, A4 19
#h& Fatef=t

Eix=



y = x* —kx+ 3k +2°] I o oJ5te] FHAE x

[e]

W, BE A4 k0] 2] e

@ 8 ® 10

@ 12

® 14

o)



21.

2x + 3a

4x

@

7k el wAgl]
1
’”3)

1 @

DN | =

244

SF

his

Wl =

e 7Hd o, a9 g Fohu?

=
| =



22.

AR A 2x4 4722 —4 = 09] F 6] o, p2 & 0,

@ 1+i @i ® 0 @ -1

o 7



23. BT+ V3x VI 7ha] shul?

D V2 @ 2 B 442 @ 8 ® 162



24.

a>0,b>0% ), Va2b® x Vab + Va2b3 & 74+

O O OV @ V2

3] shwt?



25. & % Al & 6, V0, Y508 2-e S5 Aelw e A

o

® 6, V10, V30 @ V10, ¥6, V30
® 30, V6, V10 @ {30, V10, V6

® 10, V30, Y6



